PIRANHA OFFROAD PRODUCTS

BTMB50TDI

‘Piranha Off Road products are not associated in any way with FORD Motor Co of Aust Ltd or any of its related companies’
‘Piranha Off Road products are not associated in any way with MAZDA Australia Pty Ltd or any of its related companies’

To Suit FORD RANGER / MAZDA BT50

PART NUMBER

4 CYL TDI (Manual)

APPROVED
FOR SELF FIT

SPECIAL TOP MOUNT

FITTING INSTRUCTIONS

PARTS INCLUDED WITH TRAY

1 X M8 Bolt Long

3 X M6 Hex

1 X M6 Nut

2 X J Bolts

1 X Special Top Mount

I RECOMMENDED ISOLATOR

The cradle fits passenger side front.
Fits in the corner behind the Heaalight on the passengér side.

Remove rear bolt from flat in-between head light & air cleaner
Move wiring loom from same position

Place tray in position (air conditioning pipe may need to be moved)
Place M8 bolt into captive below air conditioning pipe

Replace bolt through bottom bracket into guard

Place two M6 bolts in upper bracket into captives

IFAUTO FOLLOW AUTO INSTRUCTIONS

Place battery in tray

Line up top mount and drill hole in radiator support

Fit M6 bolt nut through this hole

| Ensure, before closing the bonnet that all items fitted have
| .adequate clearance

DBE140SF
or
DBE180-SX ——
FITTING INSTRUCTIONS © Automotive Ignition Systems Pty Ltd 2017 BTMB50TDI



